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QUESTION 1

If the selected SGW fails, which SGW/PGW will MME select if "gateway selection mode 2\\' is used?
A. A new SGW, but new PGW selection is not required

B. A new SGW first, then select a new PGW that is topologically closest to the newly selected SGW
C. A new SGW first, then select a new PGW with the best order and preference values

D. The next topologically closest SGW/PGW pair

Correct Answer: A

QUESTION 2

Which of the following is NOT an EPS session management (ESM) function performed by MME?
A. Support default bearer creation, modification, and deletion

B. Support dedicated bearer creation, modification, and deletion

C. Inform other network elements about subscription data changes in HSS

D. Perform network element selection

Correct Answer: A

QUESTION 3

Which of the following is NOT a benefit of S1-Flex mechanism?
A. Minimizes MME relocation in case of UE mobility

B. Minimizes the number of MMESs required in a network

C. Provides MME load balancing

D. Provides MME geographical resilience

Correct Answer: D

QUESTION 4

The DNS NAPTR records shown in the exhibit are returned to the MME during SGW/PGW selection.

If gateway selection mode 1 is used, which SGW/PGW pair is selected by the MME?
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Jrae Frefere - d(] - B neplaceme
200 | 800 a [ x- X-S1 topon.eth10.sgw01.pool1.nodes.3gppnetwork.or
300 500 ‘a’ X- Sgpp-sgw x—s11 gtp topon.eth10.sgw02.pool2.nodes.3gppnetwork.or
Orde Freference a( Replaceme

200 | 500 | & fm-agpp-pgw; -55- topon.eth5.pgw01.pool2.nodes.3gppnetwork.org

300 800 ‘a’ X-3gpp-pgw:x-s5- gtp' topon.eth6.pgw02.pool1.nodes.3gppnetwork.org

A. sgw01 and pgwO01
B. sgw01 and pgw02
C. sgw02 and pgw01
D. sgw02 and pgw02

Correct Answer: B

QUESTION 5

Which of the following functions is NOT performed by MME when it receives a TAU from a UE?
A. Perform message integrity check

B. Inform HSS of the UE\\'s current location

C. Check if UE requests access to a restricted tracking area

D. Send paging message to a list of SGWs belonging to UE\\'s registered tracking area

Correct Answer: D
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